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FRLSOFE BHEBRNREHIRW

&3 XA z = BE | T2 | BE | s
1| 7R48 | 1TRGRAE (GhRiTH - KEE™ - XK{LH) HEHEE 97,880
4 [ 10A128 | FE.oRILEEMHMBERE (KME) HER 97,946
5| 48178 | AVIYUHK(AAS) 13,125 % 1/2 BEHARE 6,562
6 | 5A238 | AVYUHK(BA%) 19,934F x 1/2 BEFRE 9,967
7| 6RA218 | AV (6A %) 18,955 x 1/2 HEHRE 9,477
8 | 7R198 | AVIHK(TA%) 13,695 x 1/2 HEHERE 6,847
9 | 8A228 | AVYLHK(BAS) 13,677TH x1/2 WEHARE 6,838
10| 9A288 | AV (9A %) 14,108F x 1/2 HEHRE 7,054
11| 10A298 | AV 0AS) 14,769 x 1/2 BEHRE 7,384
12 11178 | AVI R O1AS) 7,200 x 1/2 HEMRE 3,600
13| 12A258 | AV (12A%) 16207 x 1/2 REHRE 8,103
14| 1R48 | AVYUA(1A%) 5509 x 1/2 HEFRE 2,754
15 2R208 | AV (2A %) 12,4701 x 1/2 BEHRE 6,235
16| 3A288 | AV BAS) 11,797M x 1/2 HEHERE 5,898
17| 4A308 | HEBESH GIE-BAER-FiE4AH AHBAR 8,809
18| S5A31HE | #HEESH (FE-BAEHK-FESAH BHEAR 8,809
19| 6A308 | #HEEFH GIE-BRER-FE)6AH AHBAE 8,809
20| 7A318 | #FEESH (BE-BAEE-FE7AS BHEAR 8,809
21| 8A31H | #HEEFM (FE-BAREER -FE)8AH AHBAR 8,809
22 | 9A30R | #ERESH (FR-BXEXR-FE)OAN AHBAR 8,809




&3 TwAR 2 = mE | T2 | BB | s
23 | 10A318 | HEBRHEH (FHA-BAEE-FE)10AS | AHBAR 8,809
24 | 11A308 | HEBESEH (FHR-BAEE-FE11AH | BHBAR 8,809
25| 12A318 | HEBEHEH (B -BARE-FIE) 1285 | AHEAR 8,809
26| 1A31B | FHEESH (AR -BARE-FE1AS AHBAR 8,916
27| 2A288 | FHEBESEH(BR-BARE-KFE 2R AHBAR 8,916
28 | 3A3IR | HEMIHEH (BR-BARE-KFIE3ASL BHEAR 8,916
o p— ?\f};&;-%ﬁti%%ﬁ#ﬂfi ERBEAK [ gpmom | 1400
30| 7A18H | EENAVIEESHH AHBAR 19,440
31| 6A308 | aE—#L 2L (4~6A%) ARERE 2,079
32| 9A30R | aE—H#LURILH(7~9A%) BRERE 2,718
33| 1A31B | aE—#L 2L (10~12A%) BHIERE 3,015
34| 3A31A | aE—#LUAILH(1~3A%) BRERE 3,834
35| 98308 | ar—H#k ERERRE 829
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